8. Zujwpupup -puljwwywhh  wohmnwupdp vwhdwit) hwdwjiph ntiuyuph
wpluunnuuipdh 43,37% -h swithny wbugpud 8000 npwd puipdp (kntught, nnp
Yuqunud £ 103000/ Ukl hwpyoip tpkp hwquip/ npuad:

9. Puluwwhh wphunwdupdp vwhdwbly hwdwjuph nkjuduph woliunwyuwpdh
32,19% -h swthny] wykjugnpus 8000 npuid pupdp (kntwghl, npp Yugqumd L 78500
/mputiwuntt nip hwqup hhtg hwpynip/ npuad:

10. Mnuwypuljwymbh dwubwgtnh - woliwnu]updp vwhdwit) hwdwiph qijwwuph
wpfuwnwjupdh 32,19% -h swthny wykjugpus 8000 npuid pupdp (kntught, npp
Juqunud ; 78500 /inpubiwumt nip hwqup hhtiq hwppnip/ gpud:

11. Mudp Ynpgpud gwtwgly 22 Gtnuippnitthph twpgh Unputpn hwdwyiph wjwgquitim
2015 pywlwth hniijuiph 14-h phy 2 npnonudp:

12. Zwbdbwpupty hwpquyuhht nljudupt) vwhdwbywsd npouygpuswthtipny:

13. Unyjt npnpnidp nudh dby B dinbinud unnpugpdwt wpwhhg:

Lutight 3 - ‘Unpwljipin gyinh U. Uwpnjuth widub dhebwlupg nypngh ntunighsitipht
opowquynipjut hwdwp npudwljub ogintpyntt nwnt Jwuh:
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1. 22 Qtnuppnithph Ywpgh Lnpulipn guinh U. Uwpnpubh wigwb dhetwljwpg nuypngh
niunighsutipht 22 mwpwspnid gpowquini pjurt hwdwp wpudwnpty 30000 /kpkunt
hwqup/ npudwljub ognipynih:
2. Zwbdbwpupl] hwpguuyuwhht junwply hwdoyunwupwb hinfuwignid:
3. Unyb npnpmidp nidh dbp L dnbnud unnpugpuub wwhhg:

Lutghti 4 - Unpujtpuin hwdwjuph nuonudhgjut gpunwpp dwppbint hudwp
npululub wgwlgnipmilt tnwnt dwuhl ¢ Uwpquyuth binypnp:
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L Lnpuljtpun hudwytiph nupnwudhgjut gpunupp dwpptnt hwdwp hwnugity
npudwlut oginipinit 95000 /hiiunithhiq hwquip / gpundh swthny:

dninyu Uhunbjwb - 35000/tiptuntthhtg hwqup/ gpud:
8niphly Ywpwu byt - 30000/tpkuntt hwquip/ gpud:
Yuwun ZnJutithjut — 30000/tptiuntt hwquip/ gpuad:
2. Zwbdbwpupk] hwpquuyuwhhb junwpl] hwdwywnwuuwb hnfawbgnid:

3. Unyt npnpnidp nidh dbe L dintinmid uinnpugpuwb wuwhhg:



